WEST BENGAL SHINE TEACHERS' OF EDUCATION

TALENT SEARCH EXAMINATION -2024
CLASS -X

Every CORRECT answer will add one mark
Every WRONG answer will deduct one mark

Time : 1 hr 30 minutes

Find out the meanings of the one word substitution.

1. A woman having more than one husband at the
same time.

a) Polyandry b) Polygamy c) Polyphony d) Polyglot
2. A tall, strong and vigorous woman

a) Siren b) Amazon c) Harridan d) Shrew

Change the speech

3. She said to me, “I have bought this flat for my
mother.”

a) She told me that she bought that flat for her
mother.

b) She said that she bought that flat for her mother.
c) She said she has bought that flat for her mother.

d) She told me that he had bought that flat for her
mother.

Change the voice

4. Did you see the man?

a) Was the man seen by you?

b) Had the man been seen by you?

c) Were you seen the man?

d) None of these

Choose the correct synonym of the given word.

5. Abdicate

a) Paint b) Adorn c) Gamer d) Banish

Fill in the blanks from the alternatives given below.
6.She __ her lunch just now.

a) has had b) have had c) have have d) has has

7. He walks ......... foot..

a) on b) with c¢) by d) to

Choose the word opposite in meaning

8. Disguise
a) Affect b) Overlook

c) Implement d) Revelation

Full marks : 80

In each of the following questions find out the
alternative which will replace the question mark.

9.CUP:LIP::BIRD:?

a) BUSH b) GRASS c) FOREST d) BEAK
10.Flow : River :: Stagnant : ?

a) Rain b) Stream c) Pool d) Canal
11. Find the opposite gender of Buck
a) jennet b) vixen c) doe d) pen

Change the degree as directed in the bracket of the
following sentence

12.He is not so intelligent as his brother.
(Comparative)

a) He is more intelligent than his brother.
b) He is intelligent more than his brother.
c) His brother is more intelligent than he.
d) His brother is not more intelligent than he.
13.Very few cities are as rich as Kolkata. (Superlative)
a) Kolkata is the richest city.

b) Kolkata is one which is the richest city.
c) Kolkata is one of the richest city.

d) Kolkata is one of the richest cities.
Choose the adjectival form of ..

14. Eagle

a) Aquiline

b) Avian

c) Inimical

d) egline

Transform into a complex sentence

15. Courtesy costs nothing.

a) It is courtesy which costs nothing.

b) Nothing but courtesy costs anything.
c) Show courtesy and it costs nothing.

d) None of these




Transform the sentence from Complex to Simple.
16. | hoped that | might win the prize.

a) I hoped so | won the prize.

b) Having hoped | won the prize.

c) I hoped to win the prize.

d) None of these

Spot the error parts.

17. That house (a) / is built (b) /of stones. (c) /
No error (d)

18. Alms (a) / are given (b) / to the poors. (c) /
No error (d)

Put the parts in the correct order to make it a
complete sentence.

19. (A) To (B) Agreed (C) Differences (D) Their (E) Sink
(F) They

a) DCFEAB
c) FEDCAB

b) FBAEDC
d) FEDCBA
20. A person very hard to please is called —

a) Obstinate b) Unconquerable

c) Fastidious d) Invincible
21 =5+ 26 find the value of (x4xY).
a) 98 by 102 ¢) 100 d) 9%

Wx=5+2/6 @9 (Y4 ) -@vnwe
1) 08 b) 102 ¢) 100 d) 9

22.1f 80% of selling price is 120% of cost price,
find the percentage of profit.

[ RGP AYCETH 80% ST SAYCENF 120%
XY O *opdl ANwd AT FO°?

a) 40% b) 33% % c) 50% d) None of these

23. Two pipes A and B can fill a cistern in 37 %

minutes and 45 minutes respectively. Both pipes
are opened together, then the cistern will be filled
in 30 minutes, if pipe B is turned off after —

7O M2 A 493 B TGN 37~ NG« 45

NG 90 B ©f® | M A2 7o
AFSY (U =T, B ARG FOH o IF
A0 GG 30 FNNCG ©fS =7

a) 7% minutes b) 15 minutes

¢) 10 minutes d) 9 minutes
24. A man starts from a place P and reaches place
Qin 7 hours. He travelsi th of the distance at 10

km/hr and the remaining distance at 12 km/hr.
The distance between P and Q is —

JHTB (71 P F (AT @ BF FI Q A
(TS 7 01 ST (| (37 (NG ACIH, W

10 fRRT /761 93¢ A6 1y 12 fFR/<01
SIFSTITT T, ©IRCE P (ATH Q-G TG $9?

a) 80 km b) 40 km c) 60 km d) 75 km

25. The HCF of 6x%(x — y)(x? + xy + y?), 18 xy? (x —
y)?(x +y) and 12xy (x —y)3is —

6x2(x — y)(x? + xy + y?), 18 xy? (x — y)?(x + y) and
12xy (x — y)® - 49 N1 Q3 F©?

a) 6x(x —y)?b) 6x(x —y)(x +y) c) 6x(x —y) d) 6x
26

1= cos
1 +cosh

T If coth= % what s the value of \."l where 6 15 a positive acute angle.
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27. The monthly income of a person was Rs.
13,500 and his monthly expenditure was Rs.
9,000. Next year, his income increased by 14%
and his expenditure increased by 7%. The
percentage increase in his savings was —

G5 (TR NP S 13,500 BIPT, N
I 9000 BIFT| HIS! IRLA OIF @ 14%
G UG 7% i (AT H26T *RoHw F©
MO

a) 28% b) 21% c) 7% d) 14%

28. If the length of a rectangle is increased by

25% and the width is decreased by 20%, then the
area of the rectangle is —

G0 NTSCHTA O 25% I = -2
2% 20% I T O CFIPAT P ATION
R(q?

a) Increased by 5% b) Decreased by 5%

¢) Remains unchanged d) Increased by 10%




29. A and B start simultaneously from a place
towards X, 60 km apart. A's speed is 4 km/hr less
than that of B. B after reaching X, turns back and
meets A at a place 12 km away from X. A's speed
is—

A 933 B IO JHM6 BN (ATF I3 STNCH 60
fH 7 o IHI6 I x-9F AT a1 »9F
P A-AF SS9 B -7 (A 4 (B0
FN| B, X ZMH (NI T R [FAIS
AU FRAT SIS ST X (0 12 AR A A-
G S SEFTO 2| A-9F 51RO F9?

a) 4 km/hr b) 12 km/hr c) 6 km/hr d) 8 km/hr

30. Find the least number to be multiplied to
8640 to get a perfect square is —

8640-J7 MY FHON F© BN F(A Y9I
ST AT Ar?

a) 10 b) 12 ¢) 15 d) 20

31. The greatest among the following in —
fRRfERe (FH Iz N?
a) V8- \ b) V542 ¢) ¥34-431 dy V18 —415

32. The sum of five consecutive natural numbers
is 220. If the next three numbers of this sequence
are included, what will be the average of all the
right numbers.

HATHG NI FreI[S AT (TTHe 220

HRIFS] FONID FL LN TN ABGS AT T OJ
GG AL G T2

a) 44.5 b) 45 c) 46 d) 45.5
33.

9 % 4)36

L £ 10°= 3005, then i the valug of 4 64 ¥ 4 o 3

BB+ ot P T ERTH 4Pt W TR
a) 9075 b) 81675 c) 27225 d) None of these

35. How many three digit numbers are there
which are divisible by 2 as well as by 3?

o (EI FOBfe LI ™K (TR 2 d3
30wy A [erey?

a) 156 b) 151
c) 149 d) 152

36. Which of the following is not a squared
number?

fARAIS WG Syefasf stsam 22
a) 12103441 b) 6677056
c) 34074893 d) 21086464
37. The HCF and LCM of two number is 12 and 72

respectively. If the sum of the numbers is 60, then
one of the two numbers is —

IO SIS @ 12 438 #5193 721 IR
SIAIOH CA5TeT 60 =Y, O & H(B LR
T JHI6 F© AI?

a) 12 b) 24 ¢) 60 d) 72

38. A's present age is 4 years more than B's age

after 6 years. If the average of their present ages
is 35 years then B’s present age is —

A-AF TSN IT5 T 6 IRF N(F B-AF ITCIT
(AT 4 IR (@ | IM OHT TONN 9TG IIH
35 IR X, O B-4F TONN I FO?

a) 30 years b) 32 years c) 28 years d) 25 years

]"3 3‘3!’ 2Y3
39. If JT: 81 and T=256 then (x + y) is equal to—
-

il ok 92 04

nﬁ}‘g'—iw:smﬁi L;qsa 7, WA (x + y) ~H T 7

3= 2
9l b L 0?2 a4
40. A trader sells 18 watches for Rs. 12,600 and
gains the cost price of 3 watches. The cost price of
each watch is —

JFG It 18 6 9% 12600 B RIGE
A0 3 5 TS Ty e a1 AfSH
O AT $9?

a) Rs. 840 b) Rs. 600 c) Rs. 750 d) Rs. 540

41. It was Sunday on January 1st 2010. what was the
day of the week on January 1st 2016?




MW 1st January 2010 AR T OI=CA 1st January

2016 3 I R(?
a) Sunday b) Monday
c) Thursday d) Saturday

42. In a class among the boys Prateek is 3rd from the
top and 15th from the bottom among the girls Sunita
is 7th from the top and 20th from the bottom. Then
find out the total number of students in the class.

(I JHTD FICT (R T OB AW (A(H
TOIY 32 (T M (ATF 15-OW TF G2
(TR N STl AN (ATPH 7-T <8 (I
M (ATF 20-ON | OI=C FICH (V6 PO g
RS Qa1 CR?

a)50 b)48 c)43 d)38

43. In a certain code BISCUIT is written as ACHRBTHS

and ROSE is written as QSNRD then how will DOUBT
be written in that code?

(BT ABI6 S (PO O BISCUIT (T =T
ACHRBTHS <3 ROSE (74T X3 QSNRD OIX(¢1 DOUBT
L (FOF O Bl =(I?

a) CENCAS b) CENTAS c) CEMVAS d) CFNVAS

Direction (44) : The question given below consists of a
statement, followed by two arguments numbered |
and Il.

You have to decide which of the arguments is a
'strong' argument and which is a 'weak' argument.

44. Statement: Are nuclear families better than joint
families?

Arguments:

I. No. Joint families ensure security and also reduce
the burden of work.

II. Yes. Nuclear families ensure greater freedom.
TR (44) : T 2B 4B RS ey
S5, T I | 432 1| VIILS 76 L&-0F
AR (FHID =S

I 932 (PTG 7L LS WIS s e
RAA|

44, IRJFS: (RO ARG 5 (Y AR (B
OTeT?

I

1. <1 (N A7 fRarorar Ao H1 G3g
FPIGR ([RATS FA|

1. 57| (G AR IR TRl Moo HA|

a) Only argument | is strong
b) Either | or Il is strong

¢) Only argument Il is strong
d) Both I and Il are strong

Direction (45) : In a class there are seven students
(including boys and girls) A, B, C, D, E, F and G. They sit
on three benches |, Il and Ill. Such that at least two
students on each bench and at least one girl on each
bench. C who is a girl student, does not sit with A, E
and D. F is the boy student sits with only B. A sits on
the bench | with his best friends. G sits on the bench
[Il. E is the brother of C.

45, How many girls are there out of these 7 students?
fRTFIRET (45) : G576 FICT TOGH T 72 Qral
((RleT I (NI AR)A,B,C, D, E, FARGI O 1, 1l
432 11 Fof5 (26 0371 T ASTB (qr2e
FANCTF RO FEHIRT A7 FANCF JFGH
(T ACF | €, (T IFGH LAY, A, E -8 D-A S
J0A | F, QAf0 SYNTG B-47 S I0T| A (FAG
O &8 I 3R ({926 1-4 07| G [ 111-4
J07| E = € 9 OIR|

45, 9% 7 O R J3¢ R N FOGH (N
1e?
a) 3 b) 3 or 4 c¢) 4 d) Data inadequate

46. Kailash faces towards north. Turning to his right,
he walks 25 metres. He then turns to his left and walks
30 metres. Next, he moves 25 metres to his right. He
then turns to the right again and walks 55 metres.
Finally, he turns to the right and moves 40 metres. In
which direction is he now from his starting point ?

AT B8 MTE T4 FE ™G | OFHNT O M
T, (57 25 FBE RMG | O (57 014 AN i
(< 30 TR RMG | SN, (7 Ol G 25
B ST | ORI (5 WK GNP (NG
(N 432 55 NOE 2MG | NI, (F GHAS L
40 BT SR | (37 94N OIS STo1 R
(P i @R?




a) South-West b) South c) North-West d) South-East

47.P,Q, R, S, T, U are seated in a straight line facing
North. R is third to the right of U and Q sits second to
the right of R. S sits to the immediate right of P. Which
of the following represents the pairs of persons sitting
exactly in the middle of the line?

P,Q,R,S, T, U OSSN TIATIUTT ICT AR R 26T
V-9 TN At D91 ]2 Q-ICIR R-IF TN
(AT TS B | 5 ITNY -9 3F G|
o (PG T3 5 WA 0T A
(GG N FA0%?

a) SR b) SQ c)uQd) QS

48. If BEAUTY is written as YVZFGB, then how will
CHARM be written?

W BEAUTY (741 T YVZFGB, OIR(A CHARM fFeId
eI R(<?

a) ZINSX b) ZSXIN c) XSZIN d) XSINZ

49. During a certain year, Gandhiji’s birthday falls on
Sunday. On which day will be Christmas in that year?

(P JF0 IQ TMHGIT G AT =,
(12 IR9 Christmas day IERIEEIGH

a) Friday b) Wednesday c) Monday d) Sunday

50. Count the number of cubes, in the given figure.

fNHA BT Foi T |Ig?

a)8b)10c) 12 d) 14

51. A gets more marks than B but less than C. D gets
less marks than E but more than A. If C gets less than
D then who amongst A, B, C, D, E gets the highest
marks?

(PITNT IO NPT A, B- I (AT (@A T
(R fFT -9 (I FN VTS (AR D, E-IF
(ACH PN VT [FT A-99 (ATF @ T7 Iy,
M ¢, D-GF (A FN VT AT, OI=CA AT VLT
SR (@ N7 (F (ATIR?

a)Cb)Dc)Ed)B

52. In the following question find the number of
triangles in the given figure.

NET (M8 Bfkte ol (goe @mng?

a)15b)14c)10d) 8

53. Find out the missing numbers.

HNIEIR OB T RN I |

a) 28 b) 36 ¢) 81 d) 49

54.1f6 * 2is 120, 7 * 3 is 210, then 5 * 2 is = ?
M 6 * 27N 120, 7 * 327 210, OIR(A 5 * 2 T = ?
a) 60

b) 100

c) 90

d) 80

55. BOTTLE : 70 : : ORANGE : ?

a) 80

b) 58

c) 65

d) 56

56. WHAT : HATD : : CUTE : ?

a) UTEX

b) UTCX

¢) VUTX

d) XTUV

57. In the following question choose the correct water
image.

DIAE 1] T (A il @ia‘ila EEIFREES |
5 A A | i A | - AJ - A | s
(x) (a) (b) (c) (d)




58. Choose the picture that would go in the empty box
so that the two bottom pictures are related in the
same way as the top two are related.

S I (T 2R IR 6 Q[0 A 0@ SN
75 2 (TN 5=F® =% 5% (onf fNea 7o
278 SifFe =)

—
2| 0
A==

® & @\

a) | b) 2 c)3 d) 4

59. Select a suitable figure from the four alternatives
that would complete the figure matrix.

RS RFY (A G0 TS o7 (N6~ FE
T o WIfE ST 1|

AN °

AT XX

(1) (2) (3) (9

a) b)2 c)3 d) 4

60. Identify the figure that complete the pattern.

fRT5a ove Haf® sT=of 17 g Foaft foiFs
T

] O O

T X 1 9

3 I
a)l b2 o3 d)4

61. The headquarters of the Food and Agricultural
Organisation (FAQ) is at —

5 8 F ¥ 13T (FAO) STHE NS = —

a) Paris b) Rome

c) New York d) Geneva

62. The United Nations officially came into existence
on-—

TSI FIAPEH BI AP NP O 8P
EXE

a) October 24, 1945
c) October 3, 1944

b) June 26, 1945
d) January 1, 1942

63. AlIB headquarter located in which of the following
city?

AlIB-49 ST M RIS (P *1R(F W1(Zo0?
a) Mandaluyong b) Beijing
c) Shanghai d) New Delhi

64. International Olympic Committee headquarter
located in which of the following city?

WBGOF WA FAG ST TSI
fRfafde (@M = w13Ze?

a) New York b) Geneva

c) London d) Lausanne

65. Which of the following country is a permanent
member of UN Security Council?

RS CrTesfE N G Sfesiees
IEElRa I R BN ERARI R L

a) Bratzil b) Japan

c¢) China d) Switzerland

66. Where is the headquarter of APEC situated?
APEC-4I SN MY (PIA WR(Fw?

a) Jakarta b) Singapore
c) Beijing d) Manila

67. The Central Rice Research Institute is located at
which Indian city?

CIATO 4N IV (FH (P *1R(J WI(B©?
a) Shimla b) Chennai c) Cuttack d) Chandigarh

68. The National Institute of Nutrition is situated at —

T ZNOOGE W WO G~ WIS -

a) Aurangabad b) Hyderabad c) Mizoram d) Bengaluru

69. The Indian Institute of Remote Sensing is located
at which Indian city?

ST INHH0s W [NG ™1 Ok
WWWQF‘E@?

a) Dehradun b) Shimla




c) Kullu d) Bilaspur

70. The Indian Institute of Sugarcane Research is
situated at which Indian city?

S ZALHHBE W NI 6 ORred
(T *12(J WIZo?

a) Bhopal b) Coimbatore c) Lucknow d) Kanpur

71. The National Dairy Research Institute is located at
which Indian city?

TR (G A6 2APGHEE SrATed (I
LEIGAVE|E{CE:

a) Jaipur b) Udaipur

c) Karnal d) Chandigarh

72. Who painted the famous painting 'Bharat Mata'?
f341e o "oIe rer (S RN FE?

a) Abanindranath Tagore

b) Rabindranath Tagore

c¢) Shivnandan Nautiyal

d) Bikash Bhattacharya

73. Chapchar Kut is a festival of which State?
BIVEIRE F6 (TN IOV JHT0 BR?

b) Nagaland

a) Manipur
c) Mizoram d) Meghalaya

74 Which of the following diseases is caused by
Bacteria?

A=A @151 @fft N (@Eio
ANPGRS A5
a) Diptheria b) Zika fever

c) Polio d) Rubella

75. Which of the following is not a part of 5 kingdom
classification by Whittaker?

AR T (FH0 ACFR-9F A5
ST FRAITTT TB5S «F 22

a) Animalia b) Protista
c) Fungi d) Protozoa

76. Which of the following organism breathes from
skin?

RIS (F0 FIF SR WTAB G
a) Snake b) Earthworm

c) Monkey d) Humans

77. Which of the following helps in blood clotting?
TGO SR B (PN (SOIH?

a) Vitamin A b) Vitamin D

c) Vitamin K d) Folic acid

78. What is the cell wall of a Plant-made of?
SRETR (T 1B (FH GAWIG (TS todl?
a) Carbohydrate b) Cellulose

c) Lipopolysaccharide d) Glycogen

79. In which substage of Meiosis, does Synapsis take
place?

NI (T ST SR NTAAST 292

a) Leptotene b) Pachytene

c) Zygotene d) Metaphase |

80. Which of the following is needed by a person
suffering from diabetes?

ARG (@0 TR WS O
TN ATIGH?
a) Penicillin b) Streptomycin

c) Insulin d) Steroid




